C:h Adding and Subtracting with Number Lines Name:

Use the numberlinesto solve each problem. Answers
1) 23-4=
20 30 1.
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3 44+2=
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4) 42+1=
40 50 60 70 7
8.
5 40+13=
40 50 60 9
10.
6) 26+0=
20 30 40
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7) 36-27=
10 20 30 40
8) 54-5=
50 60 70
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10) 24+ 1 =
20 30
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C:h Adding and Subtracting with Number Lines Name. Answer Key

Use the numberlinesto solve each problem. Answers
1) 23-4=
20 30 1. 19
al | I | | | | I | | | | I | | | | I | | [
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2. 67
2) 73-6=
60 70 3. 46
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3) 44+2=
30 40 50 5. 53
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6. 26
4) 42+1=
40 50 60 70 7 0
8. 49
5 40+ 13=
40 50 60 9 11
10. 25
6) 26+0=
20 30 40
& | I | | | | I | | | | I | | | | I | | | | I | | | | I »
7 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I v
7) 36-27=
10 20 30 40
8) 54-5=
50 60 70
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10) 24+ 1 =
20 30
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